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2021.10.23. 13 : 00 EECXIDI (F37) = 2 s 14
2021.10.28. 14 : 10 ZEEXI0l (F37) o - 7
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2021.10.24. 13 : 00 EECEXION (F11) 2 s 8
2021.10.24. 13 : 50 ZEEXIDl (F12) 25 7
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2021.10.24. 13 : 40 HEXIJ| (F52) = 235 6
2021.10.24. 14 : 20 HEXIJ| (F53) = 25 3
2021.10.24. 14 : 40 ZEXI01(F54) i 2 s 10
2021.10.24. 15 : 00 Z2EXIJ| (F38) g 25 3
2021.10.24. 15 : 20 HE XD (F35-F38) o(S#) 235 5
LEAFEI| (ABEXDI)
2021.10.24. 09 : 30 AU XDl (F32) = 25 7
2021.10.24. 10 : 10 BTl (F32) o 2 s 4
2021.10.24. 10 : 30 RBHE XDl (F33) g 25 13
2021.10.24. 11 : 40 B XDl (F33) ol 25 3
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2021.10.24. 15 : 30 HABHEXIDI (F36) O 2 s 5
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2021.10.25. 09 : 10 S=0l2tE 10Km (T13) =1 23 5
2021.10.25. 09 : 10 S=0l2tE 10Km (DB) =1 a2 3 10
2021.10.25. 09 : 10 S=0l2tE 10Km (T11) 0! 25 5(&d4=) 5(3101€)
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